£1 % m A B H F HE @ IE
4 (B FA)
5 1H BERDLE ] it
& & L 3,971, 657 3,971, 657

-1 -

(— i)




-2- (—H&=E)

= (B FH)
£ g BEMDE WIS it

15. R&%® 634, 506 2,383 636, 889

5. #EEUHE 430, 402 2,383 432,785

90. FiHE 20,739 A2, 383 18, 356

90. Fi#HE 20,739 A2, 383 18, 356

% H & H 3,971, 657 0 3,971, 657




® A % H ®# E ¥ HE =2 IH J B A &
1. & 1
& A) (84 FM)
BEFOE WIELE it
& it 3,971,657 3,971, 657
-3-  (—fgsE)




-4 - (—mEE)

(W H) (B - FH)
# E %8 o B F N J
E; MIERTO%E HIESE B ¥ E ) R _mumE
ERX4HE o oAF & z 0 fth
15, RE#E 634, 506 2,383 636, 889 0 0 0 2,383
9. FHE 20, 739 A2,383 18, 356 0 0 0 A2,383
% H a g 3,971, 657 0 3,971, 657 0 0 0 0




3. ® W

(%) 15. REE (H) 5 #LEusE (Bif : FF)
WEZREOMRERNR -
=] FHIERTODRE | 4 1E 28 H # T B R v B L]
EEXZHE | A E|Z O b X 7 )
5. #t&iEue 92, 398 2,383 94, 781 2,383 2. #aH 1,048 |48 % 1,048
BR AR (— 1,048
BEFH SIB|BEFEHE 378
BHFL 8
B RASF 2 32
HRFY 119
HMFL 10
BEFLEEEES 209
. HEE 3064t & 396
HFHEERIES 304
HFEEHEBREIES 3
e REH 89
% 561| 8% 561
RHRBEES 544
BHFLS 17
it 430, 402 2,383 432,785 2,383
(3) 90. FHZE (1) 90. FHE
90. FiHE 20,739| A2, 383 18, 356 A2, 383 T iHE A2, 383
it 20,739]  A2,383 18, 356 A2, 383

-5 -

(—fH=3H)




